4 F—TL—rDEEEFHE
BT T—5

ti 73451

Sample 5



1.1 G.L. -3.500 m
1.2 G.L. -9.500 m
2.1

2.2

© ©O© o1 - -

11




1
1.1 G.L. -3.500 m
@
G.L. -3.500 m Ph 36.50 kN/m?
G.L. -3.500 m Ph 36.50 kN/m?
q1=10. 000 K\
Ph 36. 50
G.L.  0.000(m) G.L.  0.000(m)
G.L. -9.500(m)
@)
(kNm/m)
1 2
C1_2:__Ph - L
12
1
= — «Ph + 1. 570%=—0. 205 * Ph
12
o
"2 10.558
—+
L = -vr
-0. 205 + Ph
== =0. 0584 * Ph
2, 10.558

1.570 = - 1.500

2
M1.zzf * ¢11tCis

1570
_10.558

1,0 ON
7T T

10. 558

=—————+ (0.0584 + Ph)=0. 131 + Ph

7 + 1.500

+ (0. 0584 + Ph) +(-0. 205 * Ph)=—0. 131 * Ph

FORUMS8



(kN/m)
4
Qo= * M,
T *r
4
=——— + (0.131 * Ph)=0. 111 + Ph
7 + 1.500
Ph - L
1,27 D)

_Ph* 1.570

=0. 785 + Ph

(kN/m)
Ru=Q1,01Q1 2
=(0. 111 - Ph) +(0. 785 + Ph)=0. 896 - Ph

N=r Ph
=1.500 Ph=1.500 Ph (kN/m)

(kNm/m)
1-0)
Mmax=Q.0 * T—M, ¢
=(0. 111 » Ph) « 1.500— (0. 131 * Ph)=0. 036 * Ph
1-2)

1
Mmax=;; « Ph « LM, ,

1
:E; *« Ph » 1. 570"+(=0. 131 « Ph)=0. 177 + Ph

Mmax=0.177x Ph
Rmax=0.896x Ph
N=1.500x Ph

®

t 2.7 (mm)
AL 39.76 (cm*/m)
ZL 46.00 (cm®/m)
IL  141.00 (cm*/m)
ola 180.00 (N/mm?)

FORUMS8



4)
ga
2EIL  2X2.00X10°X141.00X%10*
qa=———= - =167. 11 (kN/m?)
T’ 1. 500°
ga: (kN/m? )
E : (KN/m? )
IL: (m*/m)
r: (m)
Ph=36.50 ga=167.11 (kN/m?)  OK
Ph: (kN/m?)
ga: (kN/m?)
®)
N=1.500% Ph
=1.500% 36.50=54.75 (KN/m)
Mmax=0.177x Ph
=0.177x 36.50=6.47 (KN.m/m)
Ph - (KN/m?)
N o (kN/m)
Mmax : (kN.m/m)
o LNa
L
0 INa={210—1.23 (1 —18) } x =
o Ha

180
={210—1.23(83. 4—18) } X ——=111. 1 (N/mn’)

210

aLXN B L XMmax
ol= +
ALX glNa ZLX ogla
_ 1.000 X 54, 75X 10° 1.000X6. 47X 10"

= - + : =0.90 = 1.00
39.76 X10°X111.1 46.00X10°X 180

oL

ola : (N/mm?)

o LNa: (N/mm?)

N : (N/m)

Mmax : (N.mm/m)

AL (mm*/m)

L (mm*/m)

OK

FORUMS8



o L=AL/(AL+AH/LH)
=39.76/(39.76+0.00/0.0)=1.000

B L=IL/(IL+IH/LH)
=141.00/(141.00+0.00/0.0)=1.000

FORUMS8




1.2 G.L. -9.500 m
@

G.L. -9.500 m
G.L. -9.500 m

Ph 90.50 kN/m?
Ph 90.50 kN/m?

ql=10. 000

G.L.  0.000(m) G.L.

G.L. -9.500(m)
)
(kNm/m)
1
C1 .z:_—Ph M L2
12

1
=——— + Ph + 1. 570%=-0. 205 * Ph
12

Cl.Z
2 10.558

L oxoer
~0. 205 + Ph
= =0, 0584 + Ph
2 10.558

1.570 = - 1.500

b=

2
M1,2:I ¢ 11tCis

= + (0. 0584 + Ph) +(=0. 205 « Ph)==0. 131 - Ph
1.570

10. 558
1,0~ O
7T *r

10. 558
=————— - (0.0584 + Ph)=0. 131 - Ph
7+ 1.500

Ph 90. 50
0.000(m)

FORUMS8



(kN/m)
4
Qo= * M,
T *r
4
=——— + (0.131 * Ph)=0. 111 + Ph
7 + 1.500
Ph - L
1,27 D)

_Ph* 1.570

=0. 785 + Ph

(kN/m)
Ru=Q1,01Q1 2
=(0. 111 - Ph) +(0. 785 + Ph)=0. 896 - Ph

N=r Ph
=1.500 Ph=1.500 Ph (kN/m)

(kNm/m)
1-0)
M_maX:QLU . T_Ml.O

=(0. 111 + Ph) + 1.500— (0. 131 + Ph)=0. 036 * Ph
-2

1
Mmax=;; « Ph « LM, ,

1
:E; *« Ph » 1. 570"+(=0. 131 « Ph)=0. 177 + Ph

Mmax=0.177x Ph
Rmax=0.896x Ph

N=1.500x Ph
€))
t 2.7 (mm)
AL 39.76 (cm*/m)
ZL 46.00 (cm®/m)
IL  141.00 (cm*/m)
ola 180.00 (N/mm?)
H H 125x 125x 6x 9

AH  30.00 (cm® )
ZH 134 (cm®)
IH 839.00 (cnm*)
o Ha 180.00 (N/mm?)

FORUMS8



4)
ga
TH 839. 00 .
2E(1L+— 2X2.00X10°X [141. 00+ xX10°
LH 2.0 (KN /)
qa= - = [ 500° =664. 30 /m
ga: (kN/m? )
E : (kN/m? )
IL: (m*/m)
IH: )
LH: (m)
r: (m)
Ph=90.50 qa=664.30 (kN/m?)  OK
Ph: (kN/m?)
ga: (kN/m?)
®)
N=1.500% Ph

=1.500% 90.50=135.75 (kN/m)

Mmax=0.177x Ph
=0.177x 90.50=16.03 (kN.m/m)

Ph : (kN/m?)
N (kN/m)
Mmax : (kN_.m/m)
o LNa
ola

o INa={210—1.23(1 —18)} X

oHa
180
={210—1.23(83.4—18) } X =111 1 (V/mn)

o HNa
o HNa=210—1. 23 (1 —18)
=210—1.23(29. 7—18)=195. 6 (N/mm’)
_ oL XN N B L X Mmax
ALX gLNa 7ZLX ola
_o.726><135.75><103+o.252><16.03><1o8
39. 76X 10°X 111.1  46.00X 10°X 180

o

=0.71 = 1.00 OK

FORUMS8




aHXN N B HX Mmax

X o HNa

X ¢ Ha

Al

LH
0. 274X 135. 75X 10° 0. 748X 16. 03X 10°

= + =0.98 = 1.00 OK

30. 00 X 10 134, 00X 10°
oo X195.6 [—| X210

oL

oH

ola: (N/mm?)
o LNa: (N/mm?)
o Ha : (N/mm?)

o HNa: (N/mm?)

N : (N/m)

Mmax : (N.mm/m)

AL (mm*/m)

AH (mm?)

L (mm®/m)
ZH (mm®)

LH - (m)

o L=AL/(AL+AH/LH)
=39.76/(39.76+30.00/2.0)=0.726

o H=(AH/LH)/ (AL+AH/LH)
=(30.00/2.0)/(39.76+30.00/2.0)=0.274

B L=IL/(IL+1H/LH)
=141.00/(141.00+839.00/2.0)=0.252

B H=(IH/LH)/ (1L+1H/LH)
=(839.00/2.0)/(141.00+839.00/2.0)=0.748

FORUMS8



D
P=0. 896 -
P;=0. 896 -
Ps=0. 896 -
P,=0. 896

2)

P1

tH 300x 300x 10x 15
Zx:1350.00 (mm*)

Ph=0. 896 X 90. 50=81. 1 (kN/m)
Ph=0. 896 X 63. 50=56. 9 (kN/m)
Ph=0. 896 X 36. 50=32. 7 (kN/m)

- Ph=0. 896 X9. 50=8. 5 (kN/m)

P4

P3

R4

h3=3. 000

P2

R3

h2=3. 000

R2

h1=3. 000

R1

hi
Tﬁ% RIZF <2P1+P2)

hi. hi
ol m}§@m%w€%mwm

h,-
I Rn=-7§i<2pﬂ+Pma

Rx:
Px:
hi:

R1=109.
R2=170.

(kN)
(kN/m)

(m

56 (kN) [G.L. -9.500m ]
72 (kN) [G.L. -6.500m ]

R3=98.13 (kN) [G.L. -3.500m ]
R4=24.87 (kN) [G.L. -0.500m ]

hi(m)
1 3.000
2 3.000
3 3.000

FORUMS8




- 10 -

hi 1 1
Mxi=—o 2P1+Pi+ X__Pi . X2+_ Pi_P1+ . X3
5 ( ) 5 o ( )

1
Pi_\/ E (P12+P1 * P1+1+P1+1Z)

Xoi= * hi
Pi_Pi+1
Mxi:i X
Xoi:i
Mxi (kN.m) Xoi (m)
1 77.70 1.456
2 50.51 1.433
3 23.41 1.357
Mmax

Mmax=77.70 (kN.m)

Mmax
7x
_77.70X10°
~ 1350. 00 X 10°

=57.556 = o Sa =210 (N/mm’) OK

0 max=

o max: (N/mm? )
x (mm®)

(kN.m)
(m

FORUMS8



- 11 -

2.2
[1 :6.L. -0.500m ]

tH 300x 300x 10x 15
A:118.40 (mm?)

D
N=24.87 (kN)
2)
N
o=—"
A
_24.87X10°
118. 40X 10°

=2 = oSb =195 (N/mm’) OK

o: (N/mm? )
N : (kN)
A (mm?)

o Sh

0 Sb=210—1.23(1 —18)
=210—1.23(30. 1—18)=195. 1 (N/mm?)

[2 :6.L. -3.500m ]

:H 300x 300x 10x 15
A:118.40 (mm?)

1)
N=98.13 (kN)
2)
N
o=
A
_98. 13X 10°
118. 40 X 10°

=8 = o0Sb =195 (N/mm") OK

o: (N/mm? )
N : (kN)
: (mm?)
o Sh
0 Sb=210—1.23(1 —18)
=210—1.23(30.1—18)=195. 1 (N/mm’)

FORUMS8




- 12 -

[3 :G.L. -6.500m ]

:H 300x 300x 10x 15
A:118.40 (mm*)

1)
N=170.72 (kN)
2)
N
o=
A
170, 72X 10°
118. 40 X 10?

=14 = o Sb =195 (N/mm") OK

o: (N/mm? )
I (kN)
A (mm?)

o Sh

o Sb=210—1.23(1 —18)
=210—1.23(30. 1—18)=195. 1 (N/mm®)

[4 :G.L. -9.500m ]

tH 300x 300x 10x 15
A:118.40 (mm*)

1)
N=109.56 (kN)
2)
N
o=—"
A
109, 56 X 10°
118. 40 X 10?

=9 = oSb =195 (N/mm") OK

o: (N/mm? )
N : (kN)
A (mm?)

o Sh

0 Sb=210—1.23(1 —18)
=210—1.23(30.1—18)=195. 1 (N/mm®)

FORUMS8
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